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1.) Giveny =3c0s(20 + 7) - 2, state the amplitude, period, phase shift, and vertical translation.
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2.) Create a cosine function with the given information:
Amplitude: 8 3 Va o]
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Describe the relationship between the graphs of fand g.
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4.) Write the sine function of the given graph. Box the period you used to write your function.
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5.) Write the cosine function of the given graph. Box the period you used to write your function.

Y= Jecos(x-2)
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6.) Write the sine function of the given graph. Box the period you

used to write your function.
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7.) Write the cosine function of the given graph. Box the period you used to write your function.
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8.) Write the sine function of the given graph. Box the period you used to write your function.
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h the hs of fand :
sketc grap JSand g on the same coordinate plane. Include at least two full periods for each.
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Sketch the graphs of f and g on the same coordinate plane. Include at least two full periods for each.
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